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SH2ESAE BHERTEZ/KERRKERERERR
I MRSk | AR SK | Aok | BRITEAK
B EEMKX | & AR [E S)IA#®EX Hh X ¢
KB4 HitE(E BEEKIR RAKIR BEAKIE | - 5E#EKR
REUSFR H = — o EEERT 2R |BEETRASEE
REENA AplRE AHIEE AHEE |[KELEB %K
={+H 2020/8/19 2020/8/18 2020/8/18 2020/8/18
¥ E = =y = =y
— XA 100% ml 0 5 0 0
\ TR TiaH Tia TIaH TIa
TIRIT LN 2DV &) 10.008meg/LLLT = - 0.0003 K;
KRN R 3) 0.0005mg/LLL - — - 0.00005 g_
L OO 0.01mg/LLL T - - = 0.001 =K;
s M XD aY) 0.01mg/LLL T - - - 0.001 5&;%_
O= N ORFDILEY) 0.0lmg/LLLF - - - 0.001 _ 3K;
6%%@20%@% Y 10.02mg/LLL T = - - 0.002 5&5%_
b iR e 2 0.04mg/LLL | _0.004__>k; 0.004 Fi 0.004 Fim 0.004__=%;
VT AV AL R OTEIEY 7 [0.0lmg/LUE] 0.001 ik 0.001__=x:m 0.001__*;m 0.001__*x:m
PR T E%&Uﬁaﬁw%% 10mg/LoLE 0.36 0.36 0.37 0.37
&O—F&U\%U) L& 0.8mg/LLL | = - — 0.05 =K;
I N DAY thz) Img/LUL T = - — 001 *x; ‘
i AES 0.002mg/LEA F|_0.0002 3k; 0.0002 3X; 0.0002 3k; 0.0002 3k;
LA-2 A% T 0.05mg/LPL | _0.005__%; 0.005 % 0.005 % 0.005 =%
VA-1.2=V anxFL v K NN . : > :
A-1.9-3 Ty 0.04mg/LEAT| 0.0002 >k 0.0002 k& | 00002 k& | 00002 *
Y an Ay 0.02mg/LPL F|__0.0002 _=; 0.0002 =; 0.0002 =k; 0.0002 _%;
S SIS A 0.0lmg/LPL | _0.0002 = 0.0002 = 0.0002 = 0.0002 3
SUEEES 0.0lmg/LPLF|__0.0002 = 0.0002_=; 0.0002_=%; 0.0002_k;
NG A 0.0lmg/LPL | _0.0002 0.0002 = 0.0002 =k; 0.0002 k;
A 0.6mg/LLAF| 0.06 K; 0.06 _X; 0.06 Xx; 0.06 _Xxj
JoopEle 0.02mg/LPL | 0.002 =K; 0.002 X; 0.002 =X; 0.002  K;
JaagLh 0.06mg/LIL K 0.012 0.0048 0.0075 0.0042
Voo FERR 0.03mg/LULF 0.004 0.004 0.006 0.003
AT 0.lmg/LLLF 0.000 0.0009 0.001 0.0024
ESA 0.01mg/LPL F|_0.001 i 0.001 ki 0.001 k& 0.001_ kg |
YR 0.1mg/LLLF 0.016 0.0086 0.0124 0.0108
N 70O e 0.03mg/LULF 0.004 0.002 X 0.003 0.002
7 0ty Jun iy 0.03mg/LULF 0.003 0.0029 0.0039 0.004
T OERVD 0.09mg/L2L K| _0.0002 k; 0.0002 k3 0.0002 % 0.0
TVLT VT ER 0.08mg/LVL | _0.008 k; 0.008 % 0.008 0.008 §
i XFDLEY) Img/ILDL | - - - 001 X%
7’1% %&U%@ﬂz/\% 0.2mg/LULF - - - 0.01 5&;%
TR O DILE) 0.3mg/LPL | 003 k4 003 X 003 _ X4 0.03__=;
H&U\%O)V*’% Img/LUL T - 0.01 Xl
ﬂ)%&@ DALEWY) 200mg/LLL | - - - 9
< g O D m% 0.05mg/LLA T — - - 0.001 Xk
ERIR R 200mg/LUL T 29 2.9 3.3 35
iw/%\ < 3y LZE@E ) [300me/LLL - = - 27.0
IR 500mg/LLL | - — - 33
A P 0.2me/L1 - - S 002 S
VT AV 0.00001mg/LLL T — — — 0.0000013%;
2AFNVAIENAF—IV 0.00001mg/LEL T - - = 0.000001 7%@_
FELA A AE TEAT 0.02mg/LULF - — — 0.002 =%;
7z )—)VFE 0.005mg/LLL T - - - 0.0005 K;
FEEY'E (TOC) 3mg/LUL T 0.50 0.3 0.3 0.3 x;
pH 5.8-8.6 8.01 7.76 7.60 7.61
'%E BTS2 EHerg AR N AR
7 L5 AR A EELL TEAT ERL
(e B 1 3 1 i 1 3 1 3
IAES 20 0.1 _xim 0.7 0.1 =; 0.1 _Fim
B 01LLE 0.11 0.2 0.2 0.13




wmaTE gk | BANREAK | BRETREAK | BREEAK | weepre s | mamrmsk
X GATRE) | #th X EA X E) #h X
AEKE [BIKRGES)| BAIKE WREF - AEKIR H 2 KR BAKE
75 [E] f £t KFEm+t K{FEM1E ABEELT | $75HER | E/EEAE
Af%E AB%E AflBRE AB%E ABlRE AB%E
2020/8/18 2020/8/18 2020/8/18 2020/8/18 2020/8/18 2020/8/18
=y k) BE k) BE i)
0 4 0 4 2 0
THEH N THEH N THEH N
0.001 - - - 0.002 -
0.004 X 0.004 5&% 0004 _*n& - = -
0.001 _F.m 0.001__>; 0.001 k4 - - -

214 0.53 - - -
00002 E& | 00007 &) - - -
0.005_k; 0.005__k; - - -
00002 Ki# | 00002 ik - - -
0.0002 ; 0.0002 k; - - -
0.0002 = 0.0002 =*; - - -
0.0002 = 0.0002 k; - - -
0.0002 = 0.0002 k; = = =
0.06 Xx; 0.06 X; - - -
0.002__k; 0.002__k; - - -
0.0002 % 0.0002 k; - = =
0.002 k; 0.002 3k; - - -

0.0004 0.0004 - - =
0.001_k 0.001 X — — -

0.0006 0.0008 - - =
0.002 X 0.002 X4 — — -

0.0002 0.0004 - - =
0.0002 =%; 0.0002 <§ = = -
0.008 _k; 0.008 _; - = =
003 x4 003 X4 - — -

0.002 - = - = =

45 2.7 3.9 3.0 39 35
64.5 41.4 = = = -

94 60 79 - = =

0.3 x4 0.3 x4 0.3 x4 0.3 x4 0.3 ki 0.3 x4
e e B

L A T =1 T =1L

TR 220  EA 220 A 2240
i 3 1 3 i K o i 3 i i i K
01 Fim 01 >k; 0.1 Fim 01 >k; 0.2 01 *km

0.54 0.25 0.24 0.15 0.15 0.26
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